Downloaded from Elcodis.com electronic components distributor

2 3 4 | 5 6 7 8
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance wifh HE 507) Series -—
A
PHYSICAL CHARACTERISTICS
-
~INSULATOR MATERIAL THERMOPLASTIC UL94 V-0 Shell size: EABC
ACCESSORIES: STAINLESS STEEL or BRASS, see sheel 2
| cadmium plated yellow passivation o
Front accessory definition
-SHELLS: STEEL. see shee
cadmium plafted yellow passivation
? i . Blank  :wifhout accessory
ELECTRICAL CHARACTERISTICS L :fhreaded insert M3
B . .
CONTACT/CONTACT 21000 v o] :threaded insert UNC 4-40
~CONTACT/GROUND - »-1200 V V. female screw UNC &-40
| :female screw M3
~INSULATION RESISTANCE: >25000 MOhms .
F :floating mounting
— ENVIRONMENTAL CHARACTERISTICS
- CLIMATIC CATEGORY. 55/125/56 Contfacts
TEMPERATURE RANGE -55°C TO +125°C Layout of confacts (see sheet 3)
DAMP HEAT STEADY STATE 56 DAYS P :Pin
C
SALT SPRAY 48 HOURS
N :mandatoy indicaftion for HE 507 series -—_
D
£
h [ i 1
z { | [ suface - Tolerance sid | projection
7 www.fciconnect.com 150 10z M 5o aos 150 101 mm
S
< Or |M PESSON 2006711714 ANGULAR 0.x 103 size Scale
F Piv L;DE”:L M“P”E mf/'im Eng [P LEGARE 2006/1/1% = LINEAR [ axx ‘ <0, A2 21
- v [P LEGARE 200611 |0 [ x| 2005 ECN F10-0072
E ‘;%702277; T:E ;gm:gg Ao | P LEGARE 200671171 | Product family ~[Spec ref
11— FC) |z 5& MALE DM & (01-8637-1732
- - \d ull power without contact = C
- - catalon o - CUSTOMER [ sheet 1 of ¢
2 3 . 5 . 7 s
PDM: Rev:C statusReleased

Printed: Oct 01, 2010



http://elcodis.com/parts/230263/DAM3W3PN.html

2 3 5 6 7 8
radial gap 0.840.12 =
A - <
q S
& H
3s 3 Bl s N s 4 3
7 F 2 ke I i 1 F F S
N ‘ & " 3 [ § w & l g 2w
| <
= * E=—")| F 2 \; y
B %3.10 £0.1 .
) ) L insert M3 V' Female screw UNC 4.40
F  Floating mountin nser
FRONT A[[ESSOR% Blank  without y g 0 incert UNC b.40 | Female screw M3
C
shell size LAYOUTS
PART NUMBER ACLRONT * XWX
D MW *PN without t 2V?2
D *MLxW *PN insert M3 A 3V3
b D=MO=W PN insert UNC 4-40 A 3w 3
D *MVxW *PN female screw UNC 4-40
D*MIxW *PN female screw M3 B 5W5
B D *MF=W *PN floating mounting C 8W 8
£
(TS
z surface - folerance sfd [projection
: ciconnect v mm
£ S s o e A
3 o M PESSON [ 2006/11/1% o RN Scale
F Eng [P LEGARE 2006/ "R ner e <0, A2 21
v [P LEGARE 2006/ |0 |7 | x| 2005 N F10-0072
hoor | P LEGARE 2006/11/1 | Product family ~[Spec ref
SCALE 4 FC) o MME D e C01-8637-1732
. \.d " full_power without rontact = C
catalon o - CUSTOMER [sheet 2 of ¢
2 3 5 6 8

Downloaded from Elcodis.com electronic components distributor

PDM: Rev:C

statusReleased

Printed: Oct 01, 2010



http://elcodis.com/parts/230263/DAM3W3PN.html

5 6 | 7 8
2?2 3V3 W3

038" 38.76 57"

076
38.76

B | | WEEE | | R |

0.51
2725 Y

@
10.46
+0.51
0

+0.51
-0

10.46 7

10.46

.25 ¢ SIDE VIEW FOR
LAYOUTS. E A B C
¢

015

o

3: C
T ! | E T =
2 ﬁ ! 2 !
L =
A il L L ] |
|
1 i b . I |
D D
~ 24.99 11 N 33.32 1 - 33.32 £0.12
ki 16,19 107 kil 250288 ki 2502 08
5 a 5
o o o
L s - L s L s
E @@z E A‘g)@y E u ) @ o ) €>ﬂ E B
J = £
£ < CAVITY PIN
T Ty PN | v \twm SOCKET <
o ‘ - - = 6.86 +005 6.86 +005
(TS SOCKET CAVITY 6.86 +4 6.86 2005 6.86 100
z surface - folerance sid  [projection
< www.friconnect.com 150 1502 M 150 406 150 101 = mm
e _wwm | @
3 o M PESSON __[2006/11/71% ox w3 s Scale
F g [P LEGARE 2006717 "R | e [ o o1 A2 21 F
(v | P_LEGARE 2006100 [ | o | w00 ECN F10-0072
hopr | P_LEGARE 2006/11/1___|Product_family | Spec_ref
FC) |z sue MALE D s CO18637-1732
\.d ull power without contact = C
catalon o CUSTOMER [ sheet 3 of ¢
2 3 4 5 6 8
PDM: Rev:C statusReleased

Printed: Oct 01, 2010

Downloaded from Elcodis.com electronic components distributor


http://elcodis.com/parts/230263/DAM3W3PN.html

| 2 4 5 6 7 8
A
. _ : )
} =
; DLOHO D)o (C.QQQQQQY)®
n
t f
T
51,45 08
0.51 -
4102
¢ -
= [ T 1 [ T
il | J l |
i . .
i
52.65 " 68.94 "
0.25
41,04 *7 ) 63.5 1 )
0.25 0.25
D 391 5.3
E 5.94 400 E 10,16 £0.05
S 0.86 £0.05 S 8.89 +£0.05
- » ! »
o A A o 0 :
HCEEEEL: of @)
T~ T —) e —)
g ! 2 54 009
£ <z 1.67 £0.08 <3
< < 3.81 0.0
14.48 £0.05_| _14.48 £0.05 15.24 0.0 | 16,51 £0.05
_ 20,68 £0.05 22.68 £0.05
z surface - folerance sid  [projection
< www.fciconnect.com IS0 1302 M 150 406 IS0 1101 6 mm
Y e ge) |
o Or |M PESSON 2006711714 0.X 0.3 size Scale
F Eng | P _LEGARE 2006/11/1% ANGULAR | neaR a.xx 01 A2 21
v [P LEGARE 2006/1/% |0 [ | [Tomx | w00 ] F10-0072
Appr | P LEGARE 2006/11/1% Product family - |Spec ref
FC) |z sue MALE D s CO18637-1732
\.d full_power without contact = C
catalon o - CUSTOMER [sheet & of ¢
2 4 5 6 8

Downloaded from Elcodis.com electronic components distributor

PDM: Rev:C

statusReleased

Printed: Oct 01, 2010



http://elcodis.com/parts/230263/DAM3W3PN.html

